Allegris BALJUHRSH

Q)AL —bMEFE—=IVISNVT

l 0402 Gy

cﬁ%ﬁ#ﬁFHHmLUng

G1/8 04020410 2,440 — | 14 | 35| 29| 44 | 25 | 48 (0.091
G1/8 04020710 2,780| 19 | 19 | 38| 31| 51| 27 | 48 (0.167
G1/4 7 04020713| 2,530 19 | 19 | 38| 31| 53| 28 | 48 |0.157
G3/8 10 04021017 | 2,870| 24 | 24 | 45| 43| 59| 31 | 69 |0.230
G1/2 13 04021321 | 3,220| 27 | 27 | 47| 44| 67| 34 | 69 |0.291
G3/4 20 (04022027 | 7,130| 32 | 38 | 63| 54| 80| 39 | 108 |0.690
G1” 23 104022334 | 8,050| 41 | 46 | 67| 57| 94| 47 | 108 [1.030
G171/4| 32 (0402 3242%28,750| 55 | 60 | 97 | 105 | 112 | 59 | 180 |2.433
G171/2| 32 |04023249%28,750 55 | 60 | 97 | 105 | 120 | 62 | 180 |[2.278
G171/2| 40 |04024049%47,500 55 | 55 | 104 | 105 | 111 | 55 | 190 |2.558

AT BRI Ay F

G2” 40 |04024048%46,000| 70 | 70 | 104 | 105 | 122 | 61 | 190 [2.754
d RA—ILOARRERLET,
cev—2 CE€

BEEAEH:4MPa (17 LI EIZ2MPa)

QSR NBFFE—IISNT

B 0446 Gy

N\
C (DN]| & & | ffils | F |F1 | H |HI | H2 L L1 M| T kg

G1/8| 4 |04460410| 4,140 | 14 | 22 | 37 | 14 | 12 | 44 | 25 | 48 |16.5/0.101
G1/4| 7 |044607 13| 5,410 | 19 | 24 | 45 | 19 | 14 | 53 | 28 | 48 |20.5/0.189
G3/8| 10 |04461017| 5,750 | 24 | 27 | 50 | 21 | 21 | 59 | 31 | 69 |20.5|0.291
G1/2| 13 |04461321| 6,210 | 27 | 27 | 51 | 23 | 21 | 67 | 34 | 69 |20.5/0.335

Wit R—ILORBEERLET,

=e{ERAEN:2MPa
1/8(&3mm

RECEFAZ T IV AYF

W 6402 Gy

7N
o c g FIF |G |H|H2|L|L | M|T kK
RF 0 ER Ay o)) & &l 9

G1/8| 4 |64020410| 3,370| 14 | 14 | 18 | 18 | 30 | 44 | 25 | 48| M4 |0.126

| G1/4| 7 |64020713| 3,910| 19 | 19 | 19 | 24 | 31 | 53 | 28 | 48| M5 |0.215

26 w| |G3/8] 10 (64021017 4,900| 24 | 24 | 20 | 30 | 45 | 59 | 31 | 69| M5 |0.319
; '<jj

G1/2| 13 |64021321| 5,080| 27 | 27 | 20 | 34 | 47 | 67 | 34 | 69| M6 |0.391

' ; G3/4| 20 |64022027|10,080| 32 | 38 | 27 | 44 | 52 | 80 | 39 | 108 | M8 0823
lor T "\or1  [G1” | 23 [6402233413,070| 41 | 46 | 27 | 53 | 56 | 94 | 47 |108 | M8 [1246
L @it AL ORBERLET,
=eEAEN4MPa

QLo XIsNvT

M 4602 GRY AT BRIV Ay F
NRVIBIRFIO-F024 | C & A& E F H L M kg

G1/4| 460206 13 | 2,930 9 17 35 34 54 | 0.101
G3/8| 460207 17 | 3,160 11 22 35 39 54 0.137
G1/2| 46021021 | 3,350 | 12 24 37 42 54 | 0.142
G3/4| 4602 1327 | 3,350 | 14 30 40 49 54 | 0.209
G1” | 460218 34 | 4,740 | 15 41 46 55 54 | 0.408
Re{ERAES:1.6MPa

100 LEG



~ n 1\ ) \\ A1)
N — o3
Hlegris ~ BALSUHeH
Q)7 FNEE—=ISVT
MW 0472 GY —
- c |(bN)| & & ffi#% | F | H |H1|H2| J | L |L1| M| kg
RECERAZ IV Ay F —
G1/8 | 4 |04720410| 3,170| 14 | 35 | 29 | 18 | 14 | 34 | 25 | 48/0.095
G1/8 | 6 |04720610| 3,170/ 19 | 38 | 31 | 20 | 22 | 37 | 27 | 480.178
G1/4 | 6 |04720613] 3,170| 19 | 38 | 31 | 24 | 22 | 38 | 28 | 4810.177
G3/8 | 9 |04720917| 3,520| 24 | 45 | 43 | 27 | 25 | 46 | 31 | 690.262
G1/2 | 12 [04721221] 3,830| 27 | 47 | 44 | 33 [ 29 | 49 | 34 | 69/0.315
G3/4 | 18 |04721827| 7,720| 38 | 59 | 51 | 40 | 39 | 60 | 39 |108[0.724
G1” | 23 [04722334/11,560| 46 | 63 | 55 | 47 | 48 | 72 | 47 |108[1.080
&t AL DREERLET,
S{EHREN:2MPa
W 0482 35LK—k GRY —
c |(DN)| & #* ffi#% | F | H | HI|H2| J | L |L1| M| kg
AT EHRZ TV Ay F =
G1/8 | 4 04820410 2,790| 14 | 35 | 29 | 18 | 14 | 44 | 25 | 48/0.110
G1/4 | 6 |04820613] 2,900| 19 | 38 | 31 | 24 | 22 | 53 | 28 | 480.187
9y G3/8 | 9 |04820917| 3,470| 24 | 45 | 43 | 27 | 25 | 59 | 31 | 690.285
G1/2 | 12 [04821221| 3,960| 27 | 47 | 44 | 33 | 29 | 67 | 34 | 690.351
Ho G3/4 | 18 |04821827| 8,030| 38 | 59 | 51 | 40 | 39 | 80 | 39 | 108 |0.789
G1” 23 (04822334|/13,230| 46 | 63 | 55 | 47 | 48 | 94 | 47 | 108 |1.172
4@3 : 2 2 @ K—ILOREERLET,
. AL 2MPa
40-X
Bl 0483 3ATR—b GRY
- C (DN & & | & | F | H Ml H2|J L L1 M| ke
RTAHEAZ TV Ay F ~—
G1/8 | 4 |04830410] 3,430| 14 | 35 | 29 | 18 | 14 | 44 | 25 | 4810.102
G1/4 | 6 |04830613] 3,520| 19 | 38 | 31 | 24 | 22 | 53 | 28 | 480.187
G3/8 | 9 |04830917| 4,240| 24 | 45 | 43 | 27 | 25 | 59 | 31 | 690.283
G1/2 | 12 [04831221| 5,740| 27 | 47 | 44| 33 | 29 | 67 | 34 | 690.352
G3/4 | 18 04831827 8,800 38 59 51| 40 | 39 | 80 | 39 | 108]0.712
G1” | 23 [04832334/17,430 55 | 47 | 48 | 94 | 47 | 1081.090
g R—ILDREERLET,
ReFEHESN:2MPa
QSR NERfFE—-IISNT
Bl 0448 3/5HBILKR—b GRY
RFECEH-vTILAYE | @ A ffi# | F|F1| H|H1|H2/H3|J | L |L1|M| T|kg
M
o1, _ G1/8| 4 |04480410] 5,410 |14 |22[37]14]18 12 ] 14|44 25] 48 16.5/0.122
OF*T sme f |G1/4] 6 [04480613| 5,750 | 1924 |45[19 24| 14]22 53| 2848 2050224
ol =eE . |G3/8] o |04480917| 6,670 |24 |27 |50 |21 27| 2125|5931 69 2050324
Ll IC G1/2| 12 0448 1221] 7,590 |27 |27 |51]23]33 2129673469 [20.5/0.398
s ‘ x
ou/| | F @KL ORBEELET,
L Ba{EAES:2MPa
uar:amm
o0—%
B 0452 3AERILKR—k GRY -
R A=y Ak | C I}]vll m & ik 3 F|F1|H HI | H2|J | K |L|T]|kg
“ G1/8| 4 |04520410| 4,050 | 14 |22 [39 10| 8 |18 | 44 | 25 [ 19 [0.316
G1/4| 6 |04520613] 5,000 | 19 | 24 [ 40 | 11 | 11 | 24 | 53 | 28 | 20 [0.298
3 L 3 @lE, KL DORBERLET,
Re{ERE:2MPa
#HaOIER— M

LEG

101



BAL 7V &4

20—-X

#FROICHA L /U8R

QIR PE=WISNT

W 0489 GRY AT ERZ T4y F

M cn“nﬁ i’ | C1 |F |F1|H HI H2| L L1 M| T kg

T (1 G1/4| 7 |04890713] 3,450|M5x0.8/24 |24 |46 |43|17|59|31] 69[2 [0.269

”%}&% ;I G3/8| 10 |04891017 3,450|M5X0.8/ 24 |24 /46|43 |17 59|31 69[2 [0.204

Ho JEI G1/2| 13 [04891321| 3,910| Gi/8 |27 27|47 |44 24|67 |34 69[2 [0.312

7 or [ c G3/4| 18 |04891827 7,940| Gi/4 |3238 63|54 |33]80]39(108]25[0.754
| \OF1  [G1” | 23 |04892334/10,350| G1/4 |41|46|67|57|37|84|47/108/3 [1.088

L

@l AL ONEERLET,
S {EAEH:4MPa

Bl 0449 XUk GRY RFENBR=—vTILAVF —~
C |(DN]| & & it C1 | F|F1|H H1|H2/H3| L |[L1|M| T | kg

—

G1/4| 7 (044907 13| 5,520 |M5X0.8|24 |27 |50|20|17|21|59|31|69|2.5/0.316
G3/8| 10 |04491017| 5,520 |M5X0.8|24 |27 |50|20|17|21|59|31|69|2.5/0.298
G1/2| 13 |04491321| 6,900 | G1/8 |27|27|52|23|24|21|67|34|69 |4 |0.354

@I KL DREERLET,
REEAEN:2MPa

M 0469 GRRY AT HERZ TV A% —~
C |[DN)| & &% | ffi*8 | F |F1 | H H | L | L1 | M| T]|kg

—

G1/8 4 104690410/ 2,580 | — | 14 | 35 | 29 | 44 | 25 | 48| 1.5 |0.100
G1/4 7 104690713 3,200 | 24 | 24 | 46 | 43 | 59 | 31 | 70| 2 |0.258
G3/8 10 |04691017| 3,220 | 24 | 24 | 46 | 43 | 59 | 31 | 70| 2 |0.246
G1/2 13 |04691321| 3,550 | 27 | 27 | 47 | 44 | 67 | 34 | 70| 2 |0.292
G3/4 18 104691827 7,210 | 32 | 38 | 63 | 54 | 80 | 39 | 108 | 2.5 |0.700
G1” 23 (04692334 9,180 | 41 | 46 | 67 | 57 | 94 | 47 |108 |3 |1.020

Bl A LOREERLET,
SEEAEN4MPa

W 0462 Gy RFECHER= TV Ay F ~
CcC |(DN]| & & | %% | F | H H1 | H2|J | L |L1| T kg

G1/8 6 04620610 2,880| 19 | 38 | 31 | 20 | 22 | 37 | 27 | 48(0.175
G1/4 6 04620613 2,880| 19 | 38 | 31 | 24 | 22 | 38 | 28 | 48(0.175
G3/8 9 104620917 3,600| 24 | 45 | 43 | 27 | 25 | 46 | 31 | 69(0.265
G1/2 14 |04621221| 3,860| 27 | 47 | 44 | 33 | 29 | 49 | 34 | 690.310
G3/4 18 |0462 1827 6,860| 38 | 59 | 51 | 40 | 39 | 60 | 39 | 108(0.730
G1” 23 104622334/13,800| 46 | 63 | 55 | 47 | 48 | 72 | 47 | 108 |1.054

@i KL DREERLET,
B {EAEH:2MPa

102 LEG




c |(on)] & & | @ |E |H1 H2/H3 J K| L || N N kg
N 2
Gi/4| 7 44020713 8,860| 12 |50 |13 | 15|30 |30 58|25 | 15|20 |0.374
— 1 [Ga/8] 10 [44021017/12,650| 12 |54 |23 |19 |36 |39 | 72 | 36 | 20 | 30 |0.756
G1/2| 13 |44021321]/13,300| 15|56 | 23 | 21 |40 | 42|79 | 36 | 20 | 30 |0.839
ot R—ILOARBEERLET,
== {FHAEF:30MPa
c |fon]| & B @it PN E | F | F1 | H| L | kg
7
Gi/4 | 4 |046504 13 [14,570| 20 | 13 | 19 | 24 | 36 | 50 |0.224
G3/8 | 7 |046507 17 |21,100| 20 | 13 | 24 | 27 | 39 | 55 |0.278
G1/2 | 10 | 0465 10 21 |23,900| 20 | 16 | 27 | 30 | 40 | 62 |0.323
il K- DREERLET,
=eEAEN2MPa
Bl 4890 FxvIINILT (RFVLR)
c |on]| & B i | oD F L kg
7
G1/8 | 10 | 4890 10 10 |15,800| =22 17 50 0.084
Gi/4 | 10 | 4890 13 13 [15,800| =22 17 50 0.074
G3/8 | 15 | 4890 17 17 |18,300 30 22 67 0.182
G1/2 | 15 | 4890 21 21 |19,200| 30 24 71 0.196
) G3/4 | 20 | 4890 27 27 |24,600| 35 32 78 0.288
Gi” | 25 | 4890 34 34 |31,700| 42 38 90 0.416
= =) @ls, AL ORRERLET,
C - ( D) %QD
ﬁr\OF
s YA Z 0.6MPaTO#H&E (k) Kv
QU AM __@__ AN
assia 1/8 18.88 Ni/min 1.60
\ [ AFUVY 1/4 19.91 NI/min 1.69
/ Suse 3/8 35.54 NI/min 3.01
- 172 36.50 NI/min 3.10
— m 3/4 65.86 NI/min 5.59
'f' - ||”” ”””m 1 92.60 N/min 7.86
" 4%
L1
{5 BB R 85 —20C~+180C
/ \ %
OUZT—I w5t OU4 FKM
FRM sUs316L
LEG 103






